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Answer Key
g PART-A PART-B | PART-C(I) PART-C(Il) ‘
Q. No Ans Q. No Ans Q. No Ans Q. No Ans
T e 26 B 51 B 76 C
|2 A 27 B 52 & 77 B
(b o A 28 C 53 D 78 D
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1l D 36 C 61 B 86 A
e B 37 A 62 B 87 C
13 B 38 B 63 A 88 B
14 B 39 B 64 B | 89 D
| 15 |B 40 D 65 C 90 D
| 16 |B |4 C 66 C 91 D
R 0 = -|ell) L 492 | D 6 | D . o, @
18 | C | 43 [ A | 68 | C .93 A
19 |D 44 B L 69 [ D | 94 B |
_20 |IB 45 G- 1070 A | 95 I B |
(31— 1D 46 | D} 71 I A I 6 |_ B |
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el G 48 C- 4. 73 | D B 1 _ A
24 A 49 A 74 A 99 | ¢ ]
25 [A | 50 | Cc | 75 B 100 | B
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Answer Key
PART-A PART-B PART-C(I) PART-C(II)
Q. No Ans Q. No Ans Q. No Ans Q.No | Ans
] B 26 D 51 A 76 | C
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= s G 30 DI 55 ¢ 80 D
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-7 C 32 D 57 D 82 B
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15 1D | 40 [ A 65 A 9 | C
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18 |cC 43 [ D | 68 | B 93 B
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